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1.(a),(b) konvergent; (c),(d) divergent; (e),(f),(h) falskt; (g) sant  
2.(a) 1,  (b)     3. lok. max: 0, lok. min:  6e 5
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1.(a),(b),(e),(f),(h) konvergent; (c),(d),(g) divergent  2.(a) 3,  (b)  4

3   
3. asymptoter:  , lok. max: 1,1 +== xyx 1− , lok. min: 3,         grafen: 
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1.(a),(d) konvergent; (b),(c) divergent; (f),(h) deriverbar; (e),(g) ej 
deriverbar    2.(a)  2

1   (b)  1−        3. asymptoter: 1±=x ,          

lok. max: 3− , lok. min: 3 , infl. pkt. 3,0,3− ,                 grafen:  
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1.(c),(d) konvergent; (a),(b) divergent; (e),(g) finns; (f),(h) finns e
2.(
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a) ex. ej  (b) 0      3. lok.min: 1± , infl.pkt: 3± ,             grafen:  
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2.(a) 1  (b)
3. asymptot: ∞= i0y , infl.pkt: 0 och 2,               grafe

4.(a)  ( x )2      (barctan )  8
2−π      
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.(b),(d),(e),(f),(h) konvergent; (a),(c),(g) divergent    
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